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I REHE

1 BREHR
(1) BEBEH#E (BBEFRY)
T E SHAFEE | NUE HEIRE | SHIEE | SH2EE
1E 5| Rl #A Lt Rl
(%) (%)
5 | K T 3,299.0 94.3 90.8 34974 3,632.6
% 5 | BT - - - - -
5 | & B 50.8 104.4 87.2 48.7 58.3
W | B K FE 124.1 95.6 108.8 129.8 114.2
X5 BE 0.0 67.9 75.1 0.0 0.0
it 3,474.0 94.5 91.3 3,675.9 3,805.1
7 3y & 35.6 101.6 138.1 35.1 25.8
2 % X 457.2 132.1 244.6 346.1 186.9
F &t 485.7 129.8 234.0 374.2 207.5
E:1) SO FOBRCHENRD—BRLENEEA B 5.
2) TOoJ FEEICHEEZWED, T-1 FEEALZVEDETRT,

3) MAHADFFLHFDOHEIC0.8ZFLL-LKIBREDET,
(2) HARlREHE (BAGL:FhY)
Al | Sf4E SH4E SHMSEE
10A31HIRE(9RAIBERE| (A)—(B) [xftk(%)
(e (A) (B) (3831 BEE)
5 | Kk 8 3,299.0 1,579.0 1,720.0 74.1%
% 5 | B TR - - - -
5 | & H 50.8 20.6 30.3 70.1%
w | B [LK FE 124.1 68.7 55.5 62.5%
2y 2w 0.0 0.0 0.0 47.7%
it 3,474.0 1,668.3 1,805.8 73.5%
A 3y #H 35.6 7.0 28.7 48.1%
# X XK 457.2 138.1 319.1 82.1%
A it 485.7 143.6 3421 78.8%
E:1) BEHLIBRBEREDRFTH S,
2) TV FOBEBRTHERNRD—BLAEWNGELH D,
3) IOl FEEICHEEBEVWED., -] EBEEALZVBDETY,
4) FAHADHIFLADOHEIZ0.8ZR L-RKIBREDAEE,
(3) KIESDH KD EFRA L
L Hh (| BEHRE £ % A K X ( % ) FEHREE
FE (Fro)| 1 % 2 % 3 % | # % s |(mEFL)
3,299.0 79.4 17.8 1.9 0.9 0.2
4 7 E <1,579.0> <75.8> <2155 <2.0> £0.7> <0.1>
3,497.4 83.6 143 1.3 0.8 -
5 % E (4,454.7) (83.1) (14.2) (1.4) (1.3) -
3,632.6 80.8 16.4 1.9 0.9 -
2 % E (4,902.3) (79.8) (16.5) (2.0) (1.7) -
AFEE-3FEE(KRAVHK) -4.1 35 0.6 0.1 0.2
AFEFE-—2FEEFE(KRAVK) -1.4 1.4 0.0 0.0 0.2
E: 1) 4EEOTROOBZDOREE. 459 ANBRAEDECH D,
2) SHEERU2FEDOLEBOHFIX. FH (10831BHRE) DIETHD.
3) BEERU2EENDTE ( ) E0OHFIL. 3EEX4EIAIIBRE.
2HEETRE (3FI0AINHRE) DETHD.
4) SOUFOBGRTHERNRN—BLEWNMEELH D,
5) T0) [FBEISHEEZZVLDED. -1 EEENGZVEDETT,




2 BENRENE

(BAI:k2)

g2 Al WO |[KFESAELEXRK|KTEEEXR K| B ER X K |EMIZ2bRK|(ERMEER X
i+t & =& 368,494 339,624 27,203 1,668 - -
EF(d:Y.45) 1,081,958 1,035,807 34,945 11,206 - -
' & 152,727 150,809 613 1,304 - -
5 F 117,939 108,736 8,615 589 - -
=2 W 155,361 151,013 3,664 684 - -
B 264,164 2484717 12,346 3,340 - -
(1 TR 1 210,466 200,381 7,066 3,019 - -
z B 181,300 176,391 2,640 2,269 - -
EREERE 609,027 591,107 12,425 5,487 - 8
*x W 177,792 176,087 1,444 257 - 5
m K 131,972 130,731 351 887 - 3
B OB 11,072 10,966 12 94 - -
B E 36,316 36,180 57 78 - -
F = 149,740 139,891 9,687 162 - 0
" =R 38 20 - 18 - -
w o= N 2,148 2,033 20 96 - -
(1T 4319 4,006 40 273 - -
E % 71,987 68,297 533 3,156 - -
M 23,644 22,896 282 466 - -
iR E 684,444 632,936 38,600 12,907 - -
woR 427,238 388,215 30,996 8,027 - -
E W 110,171 104,147 3,401 2,623 - -
g 78,062 74,732 2,686 644 - -
| H 68,972 65,842 1,517 1,613 - -
HEREE 117,526 114,750 1,545 1,232 - -
g B 21,700 20,305 1,015 380 - -
T O 34,983 34,466 242 275 - -
= = 60,843 59,978 288 577 - -
REB 153,591 141,476 2,193 9,922 - -
% = 72,370 69,673 1,639 1,058 - -
O 19,933 19,389 121 423 - -
X 2,544 2,521 7 16 - -
£ E 45279 36,735 391 8,153 - -
= B 9,457 9,187 24 246 - -
M ;W 4,008 3,972 11 25 - -
T EEEERE 247,277 235,515 4,183 7,579 - -
5 W 20,573 20,014 348 211 - -
g5 1R 35,366 33,459 1,147 760 - -
2 - 40,604 37,453 1,005 2,147 - -
L B 47,323 43,564 965 2,794 - -
1T =] 35,373 34,009 357 1,007 - -
wm B 23,070 22,798 57 215 - -
g N 9,520 9,380 120 20 - -
g & 15,794 15,633 83 77 - -
= AN 19,654 19,205 101 348 - -
N EBBUR 210,549 206,658 3,047 845 - -
E [ 40,209 39,944 19 247 - -
B =B 33,926 32,958 678 290 - -
E K 7418 7,389 3 26 - -
B K 51,072 48,559 2,298 215 - -
x % 18,746 18,674 9 62 - -
A 33,052 33,039 10 3 - -
B R B 26,126 26,095 29 2 - -
p 2 1,151 1,150 1 - - -
& & 3474017 3,299,023 124,142 50,845 - 8
E 1) SUCROBRCHENRDA—BLENBENBHIET .

N
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TOJIFBEFICHLGVBD, T-IEEENMGEVEDERLTVET,




2 EENREHE (FIMALARUVEMARIK)
(B b))

23 Al AL H | FAHARX

it &\ & 600 37,396
HILBHE 13,854 167,678
' & 10,880 42,068

5 F 965 9,514

T W 599 30,239

# H 105 20,858

1T 1,203 16,233

g B 103 48,766
BARBREE 9,629 176,209
*x W 2913 66,433

LT N - 39,391

i I ) 103 578

% E 88 8,461

F ¥ 2,491 58,937

B = - -

= I - 10
(TR 4 -

& % 1,048 777

B M 2,982 1,622
LERBUS 503 34,181
oA 55 20,842

E W 293 3,965

g 108 4,425

B H 47 4,949
RERBE 3,167 15,811
& B 1,417 4,899

2 A 911 4,711

= = 839 6,142
BEBRBE 1,102 7,245
% B 178 5,283
"O# 207 182

X - -

E E 717 1,684

= B - 97

# W - -
FERERBE 2,353 13,938
E W 176 169

5 R 6 452

M W 8 3,147

L B 1,743 378
(1T 277 2,439
w5 - 2,966

F 73 121

2 & 62 249

= A 6 4,016

RN BRBUD 4,434 4,748
= M 5 163

& =B - 672

E B 10 87

B K 296 1,179

X % 1,494 469
=R 1,690 608

BE R B 937 1,570

i # - -

& Hi 35,642 457,206

[==]
E: 1) SO FOBRCHTERNRA—RLGVBEAHY ET,
2) ToJ FEEICEREEVWED, -] IEENEVEDOE
RTLTWET,

-4~



3 FRAREHE

(1) KIESEE3=K (BT %)
8 ® " b4 = £ % ke x
#w 1= 2 % 3 % [#HB4sn Z 2% |38 % |#Hrs
it & & 339,624 311,319 12,748 3,311 12,246 917 38 1.0 3.6
RIELERBE 1,035,807 972,249 54,603 4,362 4,593 93.9 5.3 0.4 0.4
5 & 150,809 138,287 11,418 953 152 91.7 7.6 0.6 0.1
5 F 108,736 105,105 3,396 214 20 96.7 3.1 0.2 0.0
= W 151,013 145,251 4775 597 389 96.2 32 0.4 0.3
B H 248,477 223,623 19,662 1,773 3,418 90.0 7.9 0.7 14
1T 200,381 191,256 8,139 478 508 95.4 41 0.2 0.3
g B 176,391 168,727 7,213 347 105 95.7 4.1 0.2 0.1
BARRBE 590,929 484,432 96,456 8,740 1,301 82.0 16.3 15 0.2
% 175,908 120,149 51,799 3,761 199 68.3 29.4 2.1 0.1
wm K 130,731 122,541 7,546 475 169 93.7 5.8 0.4 0.1
B OB 10,966 9,746 1,151 68 1 88.9 105 0.6 0.0
% E 36,180 21,392 11,448 2,699 641 59.1 316 75 1.8
F oE 139,891 121,145 17,750 826 169 86.6 12.7 0.6 0.1
B o= 20 - 10 9 1 - 50.1 46.4 35
o= 2,033 822 1,185 24 1 40.4 58.3 1.2 0.1
(1T 4,006 3519 462 24 - 87.8 115 0.6 -
E % 68,297 66,352 1,687 239 18 97.2 2.5 0.4 0.0
B M| 22,896 18,765 3417 612 101 82.0 14.9 2.7 0.4
LERBUE 632,927 503,214 119,279 6,127 4,307 79.5 18.8 1.0 0.7
OB 388,206 294,179 89,437 2,994 1,596 75.8 23.0 0.8 0.4
E W 104,147 89,894 13,151 908 193 86.3 12.6 0.9 0.2
a 74,732 61,389 12,066 979 297 82.1 16.1 1.3 0.4
L 65,842 57,752 4,624 1,245 2,221 87.7 7.0 1.9 34
RERBE 114,750 51,251 58,311 4,520 668 447 50.8 39 0.6
I B 20,305 10,622 8,410 798 475 52.3 414 3.9 2.3
2 Al 34,466 16,687 15,785 1,914 80 48.4 458 5.6 0.2
= B 59,978 23,942 34,115 1,808 114 39.9 56.9 3.0 0.2
RERERBUS 141,476 85,075 49,998 5,748 655 60.1 35.3 41 05
# B 69,673 46,401 21,394 1,623 255 66.6 30.7 2.3 0.4
" O 19,389 13,068 5,123 1,057 141 67.4 26.4 55 0.7
X B 2,521 1,243 977 286 15 493 38.7 114 0.6
kE E 36,735 14,837 19,446 2,288 163 40.4 52.9 6.2 0.4
= R 9,187 8,493 577 82 34 92.4 6.3 0.9 0.4
M oW 3,972 1,032 2,481 411 47 26.0 62.5 10.4 1.2
FENERBE 235,515 142,960 78,692 11,962 1,902 60.7 334 5.1 0.8
g W 20,014 12,523 6,773 666 52 62.6 338 33 0.3
g5 R 33,459 22,422 8,991 1,893 153 67.0 26.9 5.7 05
@ Wl 37,453 23,693 11,816 1,741 203 63.3 315 46 05
L B 43564 37,916 5,076 465 107 87.0 1.7 1.1 0.2
oo 34,009 25,535 7,490 810 174 75.1 22.0 24 05
= B 22,798 10,430 10,402 1,626 341 457 456 7.1 15
F 9,380 1,145 7,082 1,147 7 12.2 75.5 12.2 0.1
Z IR 15,633 6,388 8,129 844 272 40.9 52.0 5.4 1.7
= A 19,205 2,908 12,933 2,769 595 15.1 67.3 14.4 3.1
RIHBRBUD 206,658 69,196 116,158 17,660 3,645 335 56.2 85 18
g 39,944 6,448 29,504 3,024 968 16.1 73.9 7.6 2.4
&t =E 32,958 15,022 16,063 1,048 824 456 48.7 32 2.5
£ & 7,389 1,615 5,361 385 29 21.9 72.6 5.2 0.4
B XK 48,559 15,374 28,418 4,097 671 31.7 58.5 8.4 14
X & 18,674 9,592 7,433 1515 135 51.4 398 8.1 0.7
- 33,039 14,175 13,726 4575 564 429 415 13.8 1.7
BER & 26,095 6,971 15,653 3,016 455 26.7 60.0 11.6 1.7
;] 1,150 501 438 165 47 43.6 38.1 14.3 40
& i 3,298,835 2,620,196 586,683 62,593 29,364 79.4 17.8 1.9 0.9
E: 1) S FOBRCHERNRA—BLEVBEABHY T,
2) TOol FEEISHEGZVIO. -] FEEIAGVHLOERLTVET,
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_(2) KIFHLHEZAK

(BT b, %)

8 g 1% " b4 = £ % e x
# F 1% 2 % 3 % [An]l1 % % | 3 F |HEN
it & & 27,203 26,260 312 10 621 96.5 1.1 0.0 2.3
RILERBUE 34,945 16,850 16,652 1,049 394 48.2 47.7 3.0 1.1
5 & 613 51 539 22 2 8.2 87.9 3.6 0.3
5 F 8,615 7,626 853 22 114 88.5 9.9 0.3 1.3
B W 3,664 678 2,605 381 - 185 71.1 10.4 -
B H 12,346 893 10,783 428 243 7.2 87.3 35 2.0
1T 7,066 5,349 1,508 175 35 75.7 213 2.5 05
g B 2,640 2,253 365 21 1 85.4 13.8 0.8 0.0
BARRBUS 12,425 9,887 2,265 240 34 79.6 182 19 0.3
% 1,444 1,039 322 68 15 71.9 223 47 1.0
wm K 351 313 31 5 2 89.3 8.8 1.4 05
B OB 12 8 2 2 0 66.8 15.4 17.2 05
B E 57 8 40 8 1 13.8 69.7 14.4 2.1
F oE 9,687 7,840 1,707 128 13 80.9 17.6 1.3 0.1
B =R -
xRN 20 1 16 1 1 74 82.3 74 2.9
(1T 40 23 16 1 0 575 40.1 1.9 05
E % 533 443 77 13 - 83.1 14.4 2.5 -
B M| 282 212 55 13 3 75.1 19.4 45 1.1
LERBUS 38,600 22,470 14,247 1,615 268 58.2 36.9 42 0.7
OB 30,996 17,035 12,714 1,037 210 55.0 410 33 0.7
E W 3,401 2,547 694 144 16 74.9 20.4 42 05
a 2,686 1,598 658 392 38 59.5 245 14.6 1.4
L 1,517 1,291 181 43 3 85.1 11.9 2.8 0.2
RERBE 1,545 690 744 92 19 447 48.2 6.0 12
% B 1,015 603 347 52 12 59.4 342 5.1 1.2
2 Al 242 35 189 13 5 145 78.1 5.3 2.0
= B 288 52 208 27 1 18.0 72.1 9.5 05
RERERBUS 2,193 262 1,632 282 17 11.9 74.4 12.9 0.8
# B 1,639 151 1,277 197 14 9.2 77.9 12.0 0.9
m OB 121 6 101 14 1 46 83.2 115 0.7
X R 7 2 2 2 0 348 36.6 25.0 3.6
T E 391 103 232 55 1 26.4 59.3 14.1 0.2
= R 24 - 16 8 0 - 65.8 335 0.6
M R W 11 - 4 7 1 - 31.9 61.5 6.5
FENERBUS 4,183 1,600 2,124 394 65 38.2 50.8 9.4 1.6
B m 348 193 136 17 1 55.6 39.2 49 0.3
g R 1,147 629 439 73 6 548 383 6.4 05
2 1,005 59 812 103 32 5.8 80.8 10.2 3.1
L B 965 413 397 150 5 4238 41.2 155 05
oo 357 255 88 13 2 713 245 3.6 0.6
= B 57 8 40 6 3 135 70.8 10.3 5.4
F 120 41 74 4 1 34.4 61.3 35 0.9
E IR 83 0 56 16 11 0.3 67.4 18.6 13.7
= A 101 3 82 13 3 2.5 81.4 12.8 33
R BRBUD 3,047 379 2,389 247 32 12.4 784 8.1 1.1
g 19 0 10 3 6 2.1 53.0 14.6 303
B =H 678 316 337 14 11 46.6 49.7 2.0 1.7
£ K 3 - 1 3 - - 22.8 77.2 -
B XK 2,298 58 2,017 213 9 2.5 8738 9.3 0.4
X o 9 4 3 2 0 413 32.3 22.0 43
- 10 - 2 5 3 - 18.3 475 342
B R B 29 - 19 8 2 - 65.1 28.4 6.5
] 1 - - - 1 - - -[ 1000
& 124,142 78,397 40,364 3,929 1,451 63.2 325 3.2 1.2
E3E 1; %rrw FOBRCAHERRA—BLEVBEABHY £ .
2

O ITBAIIZHEHLNED,

-1 FEENLGVLOERLTVET,
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(3) EERAZK

(B b, %)

8 & " = £ & t x
- Rl | %E(1%5 2% % B OE|1 2 %3 ZH|mss
i & & 1,668 - 171 1,455 13 - 10.2| 87.3] 08 - 1.7
RILEBBE 11,206 - 630( 9,312| 1,024 194 56| 831 9.1 17| o4
5 & 1,304 - 164 1,082 58 - 12.6| 83.0| 44 - -
A F 589 - - 487 82 20 -| 827 140| 33 -
T W 684 - - 237 403 41 -| 346| 589| 6.1| 04
B o= 3,340 - 19| 3,149 97 59 06| 943 29| 18 05
(IR 3,019 - 443 227 210 69 147 752| 70| 23| 09
z B 2,269 - 4| 2,087 174 4 02| 920/ 77| 02 -
BRRBE 5,487 4 104| 4,659 450 226 19| 849 82| 41| 08
*x W 257 - 13 176 32 31 52| 68.7| 126 122| 14
L/ N 887 4 85 658 83 22 96 742 94| 25| 39
BB 94 - 2 47 27 17 25 50.3[ 289 183 -
B E 78 - - 63 7 3 -| 810 94| 36| 60
F oxE 162 - - 129 28 6 -| 795 17.1] 34 -
B = 18 - - - - 18 - - -| 100.0 -
W= ) 96 - - 57 25 14 -| 59.6| 257 147 -
(1T 273 - - 248 13 12 -| 908 47| 45 -
E B 3,156 - -[ 2949 169 38 -| 934| 54| 12| 00
B [ 466 - 4 332 65 65 08| 71.1] 139 140 o1
JLBE R 12,907 - 125| 10,873 1,746 92 10| 842 135| 07| 06
=) 8,027 - 58| 6,232 1,584 82 07| 776| 197 10| 09
1] 2,623 - 2| 2,599 19 3 0.1 99.1] 07| o0.1 -
n 644 - - 556 82 7 -| 862 128 1.0 -
Fix 1,613 - 66| 1,486 60 0 41| 921 37| o0 o1
RERBE 1,232 2 290 635 250 54 235| 51.5| 203| 44| o0.1
380 - 126 131 12 10 332| 345 295 26| 03
275 - 12 223 34 5 45| 813| 124| 1.8 -
577 2 151 281 104 39 26.2| 486| 180| 6.7 -
big—3._ Tl 9,922 569| 4,282 2937| 1,228 486 432| 296| 124 49| 42
# 1,058 - 110 483 376 49 10.4| 45.7| 356| 46| 38
= 423 - 4 211 170 38 09| 49.8| 403| 9.0 -
X & 16 - - 1 3 13 - 61| 16.9| 77.0 -
E E 8,153 569| 4,167 2,085 599 356 51.1| 256 7.3 44| 46
= B 246 - 1 157 61 25 05| 63.7| 248| 102[ o8
M ;W 25 - - - 18 6 - -| 746| 254 -
FEEERBE 7,579 4| 2259| 3292 1,041 778 298| 434| 13.7| 103| 27
B W 211 - 8 123 64 16 36| 585 302| 7.7 -
5 & 760 - 10 453 257 39 1.3 59.7| 338 52| o1
7 T 2,147 - 40| 1,286 284 432 1.8] 599 132 201 49
5 B 2,794 2| 1812 716 130 56 648| 256 47| 20| 28
o 1,007 2 218 613 76 80 21.7] 608 75 79| 18
m B 215 - 172 14 4 24 800| 6.4 20 112] 03
F 20 - - 5 11 4 -| 236| 55.1| 213 -
E B 77 - - 49 28 - -| 63.2| 36.0 - o8
= A 348 - - 33 188 126 -| 95| 539| 36.1] 05
T BB 845 - 49 558 102 74 58| 66.1| 12.1| 88| 72
B @ 247 - 44 149 13 17 17.9] 605| 54| 68 94
& B 290 - - 216 43 - -| 743| 149 -| 108
E B 26 - - 6 12 3 -| 216 458| 135| 19.0
N 215 - - 152 15 47 -| 706 7.1| 220| 03
X & 62 - 5 36 17 4 78| 578 267 59| 1.7
= - - - - 3 - - -| 100.0 -
BE R B 2 - - - 2 - - -| 100.0 - -
Fad -
& &t 50,845 579 7.911| 33722 5854| 1,904 15.6| 66.3[ 115| 37| 1.7
E: 1) SO FOBERCHTENRA—BLBEVBEABHY ET .
2) ToJ [FEEICHEZEVED, -] FBEEFALZVEDERLTVET,
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4) SAMALAHRUEBBEZTR

(BT b %)

8 5 BmEHE (Hasa) |EHERGGBA) BEHE (X X)) |FHEEEX)
BE & % | BEN &K |BEN BE &K I[EEN] &% [HESN
I & & 600 600 - 100.0 - 37,396 37,396 - 100.0 -
HilLEBE 13,854 13,854 - 100.0 - 167,678| 167,678 - 100.0 -
' & 10,880 10,880 -l 1000 - 42,068| 42,068 -l 1000 -
A F 965 965 -l 1000 - 9,514 9,514 -l 1000 -
T W 599 599 -l 1000 - 30,239 30,239 -l 1000 -
#oH 105 105 -l 1000 - 20,858 20,858 -l 1000 -
(TR 1,203 1,203 -l 1000 - 16,233 16,233 -l 1000 -
E B 103 103 -l 1000 - 48,766| 48,766 -l 1000 -
BAREDE 9,629 9,629 - 100.0 - 176,209 176,199 10 100.0 0.0
* W 2,913 2913 -l 1000 - 66,433 66,433 -l 1000 -
/Y N - - - - - 39,391 39,391 o] 1000 0.0
# B 103 103 -l 1000 - 578 578 -l 1000 -
% E 88 88 -l 1000 - 8,461 8,460 o] 1000 0.0
F oxE 2,491 2,491 -l 1000 - 58,937 58,931 6] 1000 0.0
B R - - - - - - - - - -
wE I - - - - - 10 10 -l 1000 -
[T~ 4 4 -l 1000 - - - - - -
E % 1,048 1,048 -l 1000 - 777 771 o] 1000 0.0
% M@ 2,982 2,982 - 100.0 - 1,622 1,620 2 99.8 0.2
JLRE BB 503 503 -l 1000 - 34,181 34,180 1 100.0 0.0
R 55 55 -l 1000 - 20,842 20,842 -l 1000 -
E W 293 293 -l 1000 - 3,965 3,965 -l 1000 -
a 108 108 -l 1000 - 4,425 4423 1 100.0 0.0
s 47 47 -l 1000 - 4,949 4,949 -l 1000 -
HEEBE 3,167 3,167 -l 1000 - 15,811 15,811 -l 1000 -
g B 1,417 1417 -l 1000 - 4,899 4,899 -l 1000 -
B AN 911 911 -l 1000 - 4771 4771 -l 1000 -
= & 839 839 -l 1000 - 6,142 6,142 -l 1000 -
big 3. T4 1,102 1,102 -l 1000 - 7,245 7,245 -l 1000 -
% B 178 178 - 100.0 - 5,283 5,283 - 100.0 -
" O 207 207 -l 1000 - 182 182 -l 1000 -
X K - - - - - - - - - -
E E 717 717 - 100.0 - 1,684 1,684 - 100.0 -
= B - - - - - 97 97 - 100.0 -
M F W - - - - - - - - - -
PEEERERE 2,353 2,353 - 100.0 - 13,938 13,937 0 100.0 0.0
B W 176 176 -l 1000 - 169 169 -l 1000 -
g5 R 6 6 - 100.0 - 452 452 - 100.0 -
3 8 8 -l 1000 - 3,147 3,147 -l 1000 -
5 B8 1,743 1,743 -l 1000 - 378 378 -l 1000 -
w A 277 2717 -l 1000 - 2,439 2,439 -l 1000 -
m B - - - - - 2,966 2,966 - 100.0 -
F 73 73 -l 1000 - 121 121 -l 1000 -
B 1E 62 62 -l 1000 - 249 249 -l 1000 -
5 X 6 6 -l 1000 - 4016 4016 o] 1000 0.0
T B BUS 4434 4,434 - 100.0 - 4,748 4,748 - 100.0 -
B M| 5 5 -l 1000 - 163 163 -l 1000 -
& =B - - - - - 672 672 - 100.0 -
£ & 10 10 -l 1000 - 87 87 -l 1000 -
B K 296 296 -l 1000 - 1,179 1,179 -l 1000 -
X & 1,494 1,494 -l 1000 - 469 469 -l 1000 -
= 1,690 1,690 -l 1000 - 608 608 -l 1000 -
BE R B 937 937 -l 1000 - 1,570 1,570 -l 1000 -
5 - - - - - - - - - -
& &t 35,642 35,642 -l 1000 - 457,206 457,195 1 100.0 0.0
E:. 1) SUCFOBERCHENTA—BLEVBEADY £ .
2) ToJ (FEEICHEEZZVWED. T-] FEENGZVEDERLTULET,
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(1) KFE>55b% XK
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o < & & ke &=
& " E " [T %[22 %3 % [BEAR
HLEDOMEY % M 649 63.6 29.3 6.2 0.9
E AN 12,350 78.8 19.4 1.7 0.1
on 8 88 WA 36 - 100.0 - -
N st 13,034 77.9 20.1 1.9 0.2
HLNEDCCA I 398 92.0 6.4 1.1 0.4
FHIO =T 1 - - - 100.0
HEFLE EF 21 86.5 135 - -
B K 2,127 86.4 12.1 1.4 0.2
I 16 54.2 458 - -
on 8 #4 iA -
N E 2,165 86.2 12.3 1.3 0.2
HEIHAY = I 14 100.0 - - -
B2 # 7,066 92.0 45 0.7 2.7
g B 253 56.1 37.7 5.7 0.6
E B 9,212 87.7 10.7 1.4 0.2
mOa 7,087 38.9 49.2 9.4 2.5
.............. E I 1,619 254 69.2 5.1 0.2
N st 25,251 70.9 23.8 3.8 15
H=Et-CFb 5 & 847 96.4 2.5 0.8 0.3
sooF 14,796 97.4 2.3 0.2 0.0
O 16 38.7 61.3 - -
M o= 201,417 90.6 75 05 1.4
[T 3,398 90.1 9.3 0.4 0.2
B B 866 93.9 5.9 0.1 0.0
* 37,907 85.6 13.3 1.1 0.0
% E 990 65.9 315 2.4 0.2
F o= 5,675 89.3 9.9 0.8 -
oo 164 67.0 33.0 - -
E W -
g 15 99.2 0.8 - -
E % 7,185 96.4 3.0 05 0.0
g B 1,877 81.9 17.3 0.2 05
# M| 16 29.0 64.8 6.2 -
E AN 1,530 83.2 15.6 1.1 0.1
= = 1,824 64.8 32.7 2.4 0.2
# OB 1,288 81.1 18.3 05 -
X IR 60 - 59.9 40.0 0.1
E & 190 53.3 29.3 17.4 -
= B 80 53.2 31.8 13.8 1.2
B mW -
@ 7,227 67.0 29.0 3.0 1.0
E B 1,448 93.2 5.5 0.6 0.7
1T | 38 75.3 24.7 - -
m OB 47 8.1 43.8 453 2.8
% ) 16 37.1 48.4 145 -
I 1,789 16.5 69.7 12.5 1.3
= AN 127 8.8 55.8 28.2 7.2
X % 7 100.0 - - -
w7 34 435 56.5 - -
on T8 #4 WA 0 - 100.0 -
N EF 290,874 88.9 9.3 0.8 1.0
HE-SHY # H -
HEtIEsY # H -
HE63E mom 659 6.9 - 19.6 73.6
on 18 #8 WA -
N OE 659 6.9 - 19.6 73.6
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o % & i =
A E W TE [ 2 5 [ 3 & [RER
HEEHL = B 93 100.0 - - -
% % 41 374 62.6 - -
K 198 97.1 2.9 - -
BB -
B E -
F o 299 71.3 25.2 34 -
onoE 1,370 48.2 51.1 0.8 -
= 1 1,116 85.1 13.2 15 0.1
a5 360 471 49.9 - 3.0
E % 15 100.0 - - -
Z A 383 42.7 53.4 39 -
BB 721 67.1 29.2 3.7 -
E E 802 36.5 56.9 6.7 -
B -
E iR 76 100.0 - - -
@ W 4 73.0 27.0 - -
5 B 321 90.9 9.1 - -
T I3 20 - 70.4 29.6 -
B K 41 30.7 30.7 20.7 18.0
X 4 188 31.0 42.8 26.2 -
=S 951 2.3 50.2 42.0 5.4
on 8 84 A 500 68.2 30.8 0.9 -
N E 7,499 54.0 37.0 8.0 1.0
TEYR = A 68 3.1 38.2 57.2 15
nNER B A 2 60.3 17.2 22.4 -
D #H OB 5,180 90.6 8.7 0.7 0.0
MoELHE M o= 233 99.7 0.3 - -
on 8 88 A -
N Et 233 99.7 0.3 - -
HEDZL i R B 38 58.8 33.0 8.2 -
7XEeAHY I 221 97.6 2.2 0.0 0.1
on 8 #8 A -
N OE 221 97.6 2.2 0.0 0.1
HEIFHH = BB 2,538 31.6 57.0 8.8 2.6
HEFSY B K 579 21.4 75.4 2.6 0.5
X » -
o T8 8% 1A =
N 579 21.4 75.4 2.6 05
HEFEDOY w0 23 83.4 10.1 6.4 -
HEHFA 5 B 3,388 915 7.8 05 0.1
o 18 8 1A =
N B 3,388 91.5 7.8 05 0.1
TR/ MW 2,884 31.0 54.5 14.1 04
o T8 8% 1A =
INE 2,884 31.0 545 14.1 0.4
DAt BB -
B E -
N B -
#R M W 1,679 17.0 57.3 25.2 05
on 8 #8 iA 1 100.0 - - -
IN B 1,679 17.0 57.3 25.2 05
HIVDE *x W 2,053 92.3 6.2 15 -
K 12,281 96.4 3.3 0.2 0.1
B OE 6,690 97.1 25 0.4 -
% E 1,146 73.9 19.7 6.3 0.1
[T 158 98.5 15 - -
g B 498 60.5 23.4 8.1 8.0
g [ 13 71.8 05 - 27.8
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& i E b “w 3 = = 3 = [E &

HIVDE(DDF) T 213 50.6 414 8.1 -
o T8 8 1A =

N E 23,053 94.0 4.9 0.9 0.2

HIpE T # 159 92.2 78 - -

FHEOHNEY B 25 - - 100.0 -

¥ it & & 39 75.4 24.6 - -
¥EA B R B -

HPUVH i & & 512 86.6 7.4 6.1 -

HhHHDY m B 18 7.2 63.4 25.7 3.7
o T8 8 1A =

I E 18 7.2 63.4 25.7 3.7

REZFED M o= 482 93.2 6.0 0.8 -
on 8 #8 iA =

IN 482 93.2 6.0 0.8 -

19eHh) R 466 58.0 22.3 171 25

= = 47 6.7 56.1 37.2 -

# 3 W 47 29.8 62.1 2.9 5.2

m OB 5 48.8 15.9 - 35.3

= 79 31.0 59.3 9.7 -

e B B 3,571 9.8 72.6 15.0 2.6

N B 4,215 15.8 66.4 15.2 2.6

W= E 16 45.9 54.1 - -
BB K -

on 8 #8 iA 227 55.7 42.6 1.7 0.0

IN 243 55.1 43.3 1.6 0.0

—&2 % I 927 94.6 5.3 0.1 -
on fE 84 A =

N E 927 94.6 5.3 0.1 -

WEIFEN B H# 6,012 95.7 4.2 0.1 0.0

WEIFE-ZY B OE 17 100.0 - - -
on fE #4 A =

N 17 100.0 - z -
LDBEDE T O -

W 14 81.7 18.3 - -

% W 2 65.6 34.4 - -

7R N 23 94.2 5.8 - -

F o 21 95.0 5.0 - -

Hn o8 43 24.8 59.6 15.7 -

E % 43 91.4 0.2 8.3 -

g B 502 53.7 32.2 12.3 1.9

% 10 94.1 5.3 0.6 -

Z 17 84 91.6 - -

WA 0 - - - 100.0

B & 12 74.6 21.1 0.8 3.6

5 B 4 100.0 - - -

N 692 57.6 30.6 10.4 1.4

LWhHhToZ a5 F 3,326 97.4 25 0.1 -

ST At = B 4 100.0 - - -

ZHDHE s 8 100.0 - - -

KHDHE = B 9 100.0 - - -
*x W -

Hn 8 270 98.5 0.2 0.7 0.6

g N 6 100.0

# B -

o 18 80 1A 2 100.0 - - -

N 287 98.6 0.2 0.6 0.6

ZHED i & & 4,563 94.9 4.1 1.0 0.0
ZHEDHDL = 5 -




(B b, %)

o - % & i =

& i E i w3 = = 3 = [E &
IILo—L—F x__ B -
LGCY I+ g B -
*x W -

g B 7 25.6 74.4 - -

&% @ 43 76.1 23.9 - -
5 -
LB -

N 50 69.1 30.9 - -

BB 7 N 3 100.0 - - -

Hn o8 4 13.6 86.4 - -
E W -

B H 15 - 100.0 - -

®E % 10 - 54.9 451 -

g B 43 - 86.8 13.2 -
B M| -

Z 181 - 99.0 10 -

= B 20 18.4 81.6 - -

# B 70 - 96.0 4.0 -
WA -

B 6 - 100.0 - -

E iR 110 - 78.8 20.7 0.6

5 B 51 - 100.0 - -

B X 1 - 100.0 - -

o T8 8% 1A 11 59.9 40.1 - -

N st 526 2.6 90.2 7.1 0.1

BWTEWL E ) 964 434 54.4 22 -

FAEk 5.5 n 314 - 100.0 - -
on 8 88 A =

/J\ =t 314 - 100.0 - -

KHFAX B B 381 97.2 28 - -

i%‘; £ 297 - 91.3 8.7 -

= 5 196 0.6 99.4 - -

,ﬁ 5 588 - 86.5 135 -

T iE 8 WA 494 21.6 76.4 0.7 1.3

;1\ =t 1,957 24.4 69.7 5.6 0.3
BEIZLWY = O -
2.5 -
N B -

ETAEERES £ & 6 - 100.0 - -

=S 660 65.8 25.2 5.9 3.1
o T8 8 1A =

N B 666 65.2 25.9 5.9 3.0

BIEAD= i & & 5,385 92.4 6.7 0.8 0.2

BhoxEA = W 2 - - 100.0 -
MR 7 W -

E &E 25 100.0 - - -

N 25 100.0 - - -

MIFIEL 5 F 106 96.1 39 - -
on 8 80 A =

N 106 96.1 3.9 - -

RS E B 4,289 90.0 9.7 04 -

ENDEAS M| 55 83.1 7.4 9.6 -
EDE s -
HEEE *x -

n o8 10 - 100.0 - -
on 8 88 1A =

IO 10 - 100.0 - -

BEDRE g [ 547 93.6 5.7 0.7 -
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(B b, %)

a P 5 F & i &=
1 % 2 % 3 F |HAEHN
BEDOR (DDF) 3= 3 100.0 - - -
3 1 100.0 - - -
o T8 8 1A -
INOE 551 93.7 5.6 0.7 -
I %207 & g B 65 65.8 31.6 26 -
x-{YA I & ; 2,444 96.3 3.2 0.5 -
tIniE i = 5 100.0 - - -
FXeHh!) = 15 89.8 10.2 - -
%* 102 84.8 15.2 - -
B 3 96.6 34 - -
1% 761 83.8 14.2 1.7 0.3
P 126 28.6 70.2 1.0 0.2
omn o8 547 84.1 15.8 0.0 -
= H# 164 46.4 1.2 52.4 -
E B 141 98.7 1.3 - -
g B 19 100.0 - - -
B [ 265 62.2 34.6 3.0 0.2
Z A 41 27.3 72.7 - -
= = 3,503 32.9 63.5 35 0.1
34 B 11,118 45.6 49.3 5.1 0.1
= 2,391 61.0 29.1 8.2 18
X K 731 20.2 515 26.7 1.6
E & 6,207 26.9 64.2 8.4 05
= B 208 67.8 29.2 2.8 0.2
M oW 1,372 8.3 73.9 16.1 1.7
@ W 604 60.6 33.7 5.7 -
E B 71 6.5 52.2 39.0 2.3
8 640 325 48.4 16.1 3.0
E 5 - - 100.0 -
B g 267 45.1 41.6 10.9 2.3
= -
B A 4,106 0.3 66.1 29.2 4.4
on 8 84 A 3 26.1 19.8 54 1 -
N E 33,410 36.2 52.8 10.0 1.0
=hiT o % @ 3,494 785 16.2 4.7 0.6
Z 16 56.3 43.7 - -
= = 274 44.6 515 1.7 2.2
i#% 3,145 94.4 4.7 0.8 0.1
:%_.: —
N 102 49.2 43.8 6.9 -
=3 2,947 58.0 39.3 2.6 0.1
g 1,323 46.7 49.1 3.7 0.4
B 5215 83.7 14.9 1.2 0.3
B 12,613 80.9 16.5 2.3 0.3
2] 8,902 76.6 22.2 1.0 0.2
A 183 99.9 0.1 - -
i 5,728 87.4 115 0.8 0.2
oy 63 785 215 - -
= 56 0.5 62.6 27.6 9.3
218 8 R 92 99.2 0.8 - -
I\ 44,153 79.1 18.7 1.9 0.3
SlEDE [if] 1 100.0 - - -
LB B 418 945 55 - -
) = 2,029 84.8 14.1 1.1 -
3= % # M 70 100.0 - - -
=121ES = F 164 98.4 16 - -
55397 1 & & 24,428 94.9 2.4 2.7 -
=504 E % 44 100.0 - - -
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(B b, %)

o < R i E3
i E : £ 5 % (BB
E5YA(DDE) o T8 8 1A -
&t 44 z - -
EONRE = O 1,008 50.9 315 -
M o= 151 20.1 59.0 -
W 13 82.0 - -
7 0 100.0 - -
L B 9 - - -
1T 13 51.5 55 -
I E 1,195 46.9 34.1 -
ZADHSH M B -
o 310 5.6 - -
£ % -
B [ =
&t 310 56 - -
23 I B -
BHEIH B M| -
' 48 51.8 125 -
N E 48 51.8 12.5 -
R DLT< 2 F 8,337 0.8 0.0 -
FASA f M 1,797 23.0 8.2 0.2
on 8 88 A =
N E 1,797 23.0 8.2 0.2
CESADMEE BE K 1,906 48.9 114 1.2
KESADD RS 1,368 54.0 11.6 1.8
29U = W 2 - - 100.0
TE2O<L 2 [ 5,988 37.0 2.8 15
IFAZEED =2 W 596 7.2 0.1 -
FHL S 34 100.0 - -
L B -
E 15 56 60.6 33.4 -
N E 90 75.3 21.0 -
ENOE 25 P N -
F ¥ 1 - - -
X B -
M W 68 9.0 2.8 -
5 B 963 21.8 2.6 0.3
W o 1,120 10.1 1.4 0.1
X 9 158 67.0 15.8 2.7
o T8 8 1A 3 - - -
N 2,312 18.8 2.9 0.4
WAL 5 B 252 125 0.9 -
o T8 8 1A =
N E 252 125 0.9 -
HEH = 11 58.0 20.7 21.3
= 5 28.4 21.9 -
N E 16 48.4 21.1 14.4
BRI = 5 -
_ZAEDL = B -
CLLARE n 8 74,989 36.4 1.2 0.2
HRRLE S 23 - -
on 8 88 WA =
N F 23 - - -
HOHEY OB 9 - 65.5 -
& -
on 8 #8 1A 14 - 100.0 -
N E 23 - 86.5 -
=D =D = & 1 Z — -
& F 41 2.6 - -
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(Bfr: b, %)
&h f# E i “wEt = = 3 = (BB
avkehY (DDF) = OB 860 94.4 5.6 0.1 -
M B 111 91.0 5.1 3.8 0.1
(1T 7 5,485 94.9 47 0.3 0.1
E B 94,297 96.7 3.1 0.1 0.0
%W 106,831 59.2 38.1 2.6 0.1
i N 85,943 92.6 7.0 0.4 0.0
B OE 1,483 65.7 32.9 1.4 0.1
% E 8,629 15.6 59.4 22.2 2.8
F o= 68,193 83.1 16.2 0.6 0.2
wmo= 23 35.6 63.1 1.3 -
onoE 245,996 79.3 20.1 0.4 0.2
= W 71,366 84.0 15.2 0.7 0.2
a5 39,209 79.5 18.6 15 0.4
= H 24,695 85.6 8.6 2.5 3.2
T 3,449 90.5 9.0 05 -
E B 52,283 98.0 1.7 0.2 0.0
g B 6,452 49.7 44.3 4.1 1.9
% 14,551 84.1 13.4 2.1 0.4
E AN 12,690 8.6 79.6 115 0.3
= = 44,992 36.7 60.1 3.0 0.2
# B 22,789 58.1 39.7 2.0 0.1
= 11,003 66.5 29.0 3.7 0.8
X R 51 40.7 41.7 16.4 1.2
B & 19,028 38.1 55.6 5.8 05
= B 667 94.1 43 1.6 -
M o 367 2.7 67.3 27.6 2.4
E 7,342 46.9 47.8 5.0 0.3
E I8 15,441 57.4 33.6 8.4 0.7
2 8,284 79.7 18.4 1.4 05
E B 20,464 87.3 11.6 0.9 0.3
A 8,764 76.7 21.1 15 0.8
m B 14,002 49.8 43.8 5.5 0.9
E N 3,666 41 71.7 24.2 0.0
2 IE 7,159 52.3 43.1 42 0.4
= AN 13,217 16.2 68.5 12.6 2.7
2 M 540 5.0 88.6 5.9 05
k B 3,042 86.8 1.2 1.9 0.1
E I 1,727 32.6 61.0 5.7 0.7
B K 7,260 59.8 33.7 47 1.7
X & 1,359 68.2 22.2 7.8 1.8
=g 16,025 73.8 215 3.7 1.0
BE R B 4,592 43.3 49.8 5.7 1.2
on 8 84 A -
N E 1,074,368 74.6 23.1 2.0 0.4
aYEAUIRTE =il -

CHEREVSDH g B -

E=ll! = 22 82.2 17.8 - -
M M| 39 100.0 - - -
B B 34 95.6 44 - -
% E 86 96.2 38 - -
F o= 268 97.0 3.0 - -
onoE 97 - 74.8 25.2 -
a 1 - 100.0 - -
& # 26 100.0 - - -
T 78 93.6 6.4 - -
E B 83 98.8 1.2 - -
m B 1 100.0 - - -

& 18 # AA -
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= (BB b, %)
o 2 te ES
A B T E T E 3 E [BER
FEEII(DDE) I 735 83.5 13.2 3.3 -
dJaEAY B B -
EEDE 52 F 1,020 98.0 1.9 0.1 -
SI556 E B -
EDMHHOE % E 8,982 92.1 7.2 0.6 0.1
FAD I RA i E 10,919 69.5 28.6 1.7 0.2
EDEFIFAH B E -
EDHDY B E -
IAUVLY k B 8,432 53.9 42.0 4.0 0.1
I=EUMY =g 7 25.7 74.3 - -
Vw19 . H 2,625 98.1 1.0 0.0 0.9
HHI oL = I 16 75.5 19.9 46 -
=& 5 F 281 85.9 13.8 0.2 -
=7 8,888 93.6 6.1 0.3 0.0
o= 430 78.4 20.3 1.0 0.3
W 991 87.7 11.9 0.4 0.0
B B 60 96.7 3.3 - -
7R N -
% B 13 48.0 52.0 - -
o E 23 27.6 28.3 241 20.0
N s 10,687 92.1 75 0.3 0.1
SHEEX 2 -
IELEA M= 43 41.9 58.0 0.1 -
k B 183 3.9 92.6 1.2 2.3
on 8 88 A =
INOE 226 11.1 86.1 1.0 1.9
Bz W 1 79.2 20.8 - -
BlLhooA g B 7,750 93.0 6.1 0.8 0.0
SHhELOVEL E I 84 - 100.0 - -
Shhgy = 4 13 - 42.3 40.3 17.4
SHhDFHE W 38 78.9 135 15 -
Shuhmy B B 1 - 100.0 - -
SASAED 4 & & 584 71.1 26.7 - 2.2
LAKDAHDY #* | 72 85.2 14.3 - 0.5
BK 15 I B 11 98.6 14 - -
=S ] 13 - 100.0 - -
Hn o8 55 - - 100.0 -
E W 13 - - 100.0 -
a 6 - 100.0 - -
E =
N EF 86 - 21.7 78.3 -
FEZZIH L 7E N 3 100.0 - - -
m E 152 92.5 75 - -
on 8 84 A 8 100.0 - - -
N 163 93.0 7.0 - -
2Bl s 18,918 97.9 1.7 0.1 0.4
2/)—I1v—)L M H 10 - 100.0 - -
EXNEE g & 9,245 95.5 4.2 0.3 0.0
sEDIZL w0 12 83.3 16.7 - -
FRNE R 42 100.0 - - —
on 8 88 A =
N 42 100.0 7.0 - -
ZopE It i\ & 2,208 100.0 0.0 - -
Kb & 4 690 56.1 41.7 2.2 -
on 18 88 1A 16 100.0 - - -
N E 706 57.1 40.8 2.1 -
KD E i & & 596 58.3 14.6 27.0 -
=Hhi-Dr & = F 153 100.0 - - -
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f=hhadHny) # | -

' B 52 100.0 - - -

I E 52 100.0 - - -

f=hioFESY B R B 29 - - 100.0 -

f=&1-T R 39 15.8 82.9 1.3 -

=-b1Edn E E 15 33.9 66.1 - -

= 2 - 100.0 - -

B X 203 5.3 94.7 - -
X & -
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I E 219 7.2 92.8 - -

ECEE = 2,828 99.4 0.6 - -

F-AIEDE k B 743 1.2 70.3 285 0.1

5IZHDY = 74 100.0 - - -

= O 440 97.3 2.7 - -

o= 4,018 75.7 20.6 2.8 0.9

W 267 100.0 - - -

B B 1,156 86.8 13.1 0.1 -

Hn 8 784 55.7 40.0 34 0.9

E &E 528 53.3 419 43 0.4

on 8 88 A 183 85.3 10.7 25 1.6

N 7,450 76.3 20.8 2.2 0.7

B UMY 43 188 21.1 72.6 - 6.2
on 8 88 1A =

N Et 188 21.1 72.6 - 6.2

FI=—I % B B 1,943 88.3 10.2 15 -

* 1,143 75.8 19.7 45 -

E A 238 99.0 1.0 - -

on 8 88 A 12 - 100.0 - -

N B 3,336 845 13.1 2.4 -

SOMNBHAT 5 B 15,220 89.8 9.4 0.7 0.0

2EHMY F & 357 83.3 16.7 - -

= F 1,393 86.1 76 6.1 0.2

=R 2,924 88.7 10.7 0.6 -

# H 261 79.9 20.1 - -

o 641 90.7 9.3 - -

B B 1,839 81.6 17.4 0.9 0.1

% W 11 84.2 15.8 - -

F o 394 55.7 443 - -

ooE 7,907 27.1 68.2 3.9 0.7

= I 916 36.9 58.1 4.1 0.9

a 2,140 85.7 13.3 0.9 0.1

= H 280 81.9 12.6 55 -

E B 1,031 94.4 5.4 0.2 -

E & 570 49.1 36.1 12.4 2.3

E iR 132 33.2 48.5 18.3 -

= 623 93.9 6.1 0.0 -

on 8 84 A 348 70.2 28.6 1.3 -

N E 21,766 61.0 35.8 2.8 0.4

2% =4V B B 40 - 2.9 97.1 -
on 8 #4 iA =

N E 40 - 2.9 97.1 -

HKLAFA 2 [ 40 1.9 96.9 1.2 -
KIESD1& = -
# | -

o 233 100.0 - - _

B B 182 100.0 - - -

% W 553 35.9 39.2 242 0.7
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KIESD18 (0D%F) F E -
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E W -
& # 273 16.1 54.6 28.1 1.1
% 23 - 100.0 - -
# B 83 58.9 40.2 0.9 -
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